



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{13}{18}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{19}{25}$$

$$\left(-\frac{1}{5}\right)^2 + \frac{1}{2} = \frac{27}{50}$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} = \frac{19}{25}$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{2}{5}\right) = \frac{3}{5}$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{483}{500}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{4} = \left(-\frac{233}{500}\right)$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) = \frac{13}{30}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{22}{75}\right)$$

$$\left(\frac{2}{5}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{29}{54}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{8}\right)$$